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100 Questions

Que. 1 The profit earned when an article is sold for Rs. 800 is 20 times the loss incurred when it is sold for Rs.
275. At what price should the article be sold if it is desired to make a profit of 25%.

1. 375
2. 475
3. 300
4. 500

Correct Option - 1

Que. 2 10 girls leave then the ratio of boys to girls is 2:1, when 20 boys leave then the ratio becomes 4:3, find
the original ratio of boys to girls.

~N B~ o
W N W W

1
2.
3.
4
Correct Option - 2

Que. 3 The average weight of A, B, C is 45 kg. If the average weight of A and B is 40 kg and the average
weight of B and C is 43 kg, find the weight of B.

1. 34kg
2. 35kg
3. 33kg
4. 3lkg

Correct Option - 4

Que. 4 How many kilograms of wheat costing Rs. 8/kg must be mixed with 36 kg of rice costing Rs. 5.40/kg so
that 20% gain may be obtained by selling the mixture at 7.20/kg.

1. 7.67kg

2. 9.08kg

3. 10.8kg

4. 8.67kg

Correct Option - 3

Que.5 A, B & Care on a trip by a car. A drives during the first hour at an average speed of 50 km/hr. B drives

during the next 2 hours at an average speed of 48 km/hr. C drives for the next 3 hours at an average
speed of 52 km/hr. They reached their destination after exactly 6 hours. Their mean speed was:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1. 50 km/hr
2. 1
50— km/hr
3
3. 1
51§ km/hr
4. 52 km/hr

Correct Option - 2

Que. 6 Manga travels 760 km to his home, Partly by train and partly by car. He takes 8 hours,if he travels 160
km by train and the rest by car. He takes 12 minutes more if he travels 240 km by train and the rest by
car. What are the speeds of the car and the train respectively?

1. 150 km/h, 100 km/h
2. 120 km/h, 60 km/h
3. 100 km/h, 80 km/h
4. 100 km/h, 120 km/h

Correct Option - 3

Que. 7 A 624 litres of mixture contains milk and water in the ratio 19 : 20. How much milk must be added to
the mixture so that it contains milk and water in the proportion of 3 : 2? (In litres)

1. 196
2. 176
3. 166
4. 186

Correct Option - 2

Que. 8 A fraction becomes 2/3 if 1 is added to both its numerator and denominator. Same faction become 1/2 if
1 subtracted both from its numerator; and denominator. The fraction is

1. 4/7
2. 3/4
3. 3/5
4. 8/9

Correct Option - 3

Que. 9 The average of five consecutive odd numbers is 61. What is the difference between the highest number
and lowest number?

1. 4
2. 8
3. 12
4. 16
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Correct Option - 2

Que. 10 If the numerator of a fraction is increased by 400% and the denominator is increased by 500%, the

1.

2
3.
4

resultant fraction is ;—3 . What is the original fraction?

©loo |

1
12

Cannot be determined

Correct Option - 2

Que. 11 Distance between 2 stations A & B is 330 km. A train left station A at 8 am with a speed of 60 km/hr

and another train left station B at 9 am with a speed of 75 km/hr. At what time both trains will meet

each other. Also, distance covered by 1st train when they meet?

1
2.
3.
4

11 am; 180 km
11 am; 155 km
9 am; 180 km
9 am; 160 km

Correct Option - 1

Que. 12 A piece of string is 40 centimeters long. It is cut into three pieces. The longest piece is 3 times as long

as the middle-sized and the shortest piece is 23 centimeters shorter than the longest piece. Find the

length of the shortest piece(in cm).

1
2.
3.
4

9 cm
6 cm
27 cm

4 cm

Correct Option - 4

Que. 13 A path of uniform width of 1m inside the rectangular park of 20m and 15m are made. Find the area of a

1.

2
3.
4

path.

66 m?
62 m>
68 m>
70 m?

Correct Option - 1

Que. 14 What is the difference between Compound interest and Simple Interest on Rs 2000 for one year at 10%

p.a If the interest is calculated half-yearly?
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1. Rs.2.50
2. Rs.5

3. Rs.25
4. Rs. 10

Correct Option - 2

Que. 15 A metal of which 3/7 is zinc and rest is copper be mixed with metal of which 4/7 is zinc and rest is
copper what is the ratio of zinc to copper in new mixture?

12
01
:3
01

W N = =

1

2.
3.
4

Correct Option - 2

Que. 16 In a carton, there are total of 45 oranges. One-fifth of the total oranges are rotten. Find the probability
that an orange drawn randomly is not rotten.

1. 1/6
2. 2/7
3. 3/10
4. 4/5

Correct Option - 4

Que. 17 The salary of A, B, C are in the ratio of 5 : 3 : 2. If the increment 20%, 25% and 30% respectively are
allowed in their salaries, then what will be the new ratio of the salaries?

1. 122:11:39
2. 122:10:8

3. 120:75:52
4. 120:71:59

Correct Option - 3

Que. 18 A circle is formed by a wire and its area is 154. If any equilateral triangle is formed by the same length
of the wire then what will be the area of the equilateral triangle?

1. 90.1 cm?
2. 93.1cm?
3. 883 cm?
4. 64 cm?

Correct Option - 2
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Que. 19 P and Q together can complete some work in 30 days. Q and R together can do the same work in 24
days. R and P together will take 20 days to complete it. If they all work together, in how many days

will the job get done?
1. 25
2. 8
3. 15
4. 16

Correct Option - 4

A train starts from A towards B with speed 75 km/h. Another train starts from B with speed of 60 km/h

towards A. Both of them meet after 12 minutes. Find the distance between A and B?

Que. 20
1. 25km
2. 30 km
3. 27km
4. 65km

Correct Option - 3

Que. 21  When was Rowlatt Act passed?
1. 1925
2. 1928
3. 1919
4. 1905

Correct Option - 3

Que. 22 Match List I with List II:

List I List IT
(Uprising) (Leader)
(A) Ramosi uprising (I) Jatra Bhagat
(B) Kol uprising (IT) Buddha Bhagat
l(lcpzigz;ha Nagas (IIT) Chittur Singh
(D) Oraons uprising (IV) Sambhudan

Choose the correct answer from the options given below:

1

2.
3.
4

(A) - (1), (B) - (D), (C) - (IV), (D) - (I)
(A) - (1D, (B) - (1D, (C) - (D), (D) - (IV)
(A) - (IV), (B) - (1), (C) - (ID), (D) - (1)
(A) - (D, (B) - (D), (C) - (ID), (D) - (IV)
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Correct Option - 1

Que. 23  Africa's highest mountain, Mount Kilimanjaro, is located in which country?

1. South Africa
2. Tanzania

3. Nigeria

4. Kenya

Correct Option - 2

Que. 24 The Rangeet (Rangit) is a tributary of the river

1. Manas
2. Subarnarekha
3. Teesta
4. Piyali

Correct Option - 3

Que. 25 Who among the followings has won the Australian Open Men's Singles final in January 20227

1. Rafael Nadal

2. Daniil Medvedev
3.  Roger Federer

4. Novak Djokovic

Correct Option - 1

Que. 26 Which of the following is the first man to win two Golden Ball Awards

1. Lionel Messi

2. Emi Martinez

3. Cristiano Ronaldo
4. Enzo Fernandez

Correct Option - 1

Que. 27 Which country is NOT a member of OPEC?

1. Venezuela
2. Algeria

3. Nigeria

4. Kenya

Correct Option - 4
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Que. 28 For how many days is the Hornbill festival held?

I. 5

2. 10
3. 15
4. 20

Correct Option - 2

Que. 29 Consider the following statements:

1. In the election for Lok Sabha or State Assembly, the winning candidate must get at least 50 percent
of the votes polled, to be declared elected.

2. According to the provisions laid down in the Constitution of India, in Lok Sabha, the Speaker's post goes to the
majority party and the Deputy Speaker's to the Opposition.

Which of the statements given above is/are correct?

1. 1only
2. 2only
3. Both1land2
4. Neither 1 nor 2

Correct Option - 4

Que. 30  Who is the guardian of fundamental rights enumerated in Constitution?

1. President

2. Parliament

3.  Supreme Court

4. Cabinet Ministers

Correct Option - 3

Que. 31 Who among the following holds his/her office during pleasure of the President?

1.  Comptroller and Auditor General of India
2. Chief Election Commissioner

3. Speaker of Lok Sabha

4. Attorney General of India

Correct Option - 4

Que. 32 Which of the given statements about the Union Budget is/are true?
a) Vote on Account deals only with the expenditure side of the government budget.
b) Vote on Account and Interim Budget are not the same.
¢) An Interim Budget gives a complete financial statement, similar to a full budget.
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1

2.
3.
4

(a) and (b)
Only (a)

(a), (b) and (c)
Only (¢)

Correct Option - 3

Que. 33  Which of the following types of light are strongly absorbed by plants?

1

2.
3.
4

Yellow and White
Yellow and Orange
Blue and Red
Indigo and Yellow

Correct Option - 3

Que. 34 What is the pH value of human blood?

1.
2.
3.
4.

8.3
6.8
7.4
6

Correct Option - 3

Que. 35 A sphygmomanometer is used to measure which of the following?

1

2.
3.
4

Electric current
Humidity
Wind

Blood pressure

Correct Option - 4

Que. 36 Who has been appointed as the 50th Chief Justice of India (CJI) in October 2022?

1

2.
3.
4

U U Lalit

D Y Chandrachud

Y. V. Chandrachud
Bijan Kumar Mukherjea

Correct Option - 2

Que. 37 'Playing to Win' is the autobiography of which of the following sportspersons?

1.
2.

Saina Nehwal

Sania Mirza
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3.  Anil

Kumble

4. Novak Djokovic

Correct Option - 1

GET IT ON
Google Play

Que. 38 In which state/UT, union minister Dr. Jitendra Singh has inaugurated India’s ‘First Lavender Festival'?

Himachal Pradesh

Jammu and Kashmir

1.
2.
3. Kerala
4.

Chandigarh

Correct Option - 2

Que. 39 What was the theme for 8th International Day of Yoga in 20227

“Yoga for Healthy Body’

1

2. ‘Yoga and World'
3. “Yoga for Humans'
4

“Yoga for Humanity’

Correct Option - 4

Que. 40 Jose Ramos-Horta, a Nobel Peace Prize laureate, has recently been sworn in as the fifth president of
which country?

East Timor

Papua New Guinea

1

2.

3. Eritrea
4

Brunei

Correct Option - 1

Que. 41 Which missile's extended-range version was successfully tested by the Indian Air Force in May 20227

BrahMos
Aakash

1.
2.
3. Prithvi-II
4.

Agni-V

Correct Option - 1

Que. 42 Match List I with List II:

List I

List II

(Missile)

(Type)

(A) Barak Missile

(I) Surface-to-air missile
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(B) Nag Missile (IT) Cruise missile
(C) Nirbhay Missile (IIT) Anti-tank missile
(D) Agni-V Missile (IV) ICBM

Choose the correct answer from the options given below:

L. (A) - (), (B) - (IT), (C) - (IV), (D) - (D)
2. (A)- (D), (B) - (1), (C) - (D, (D) - (IV)
3. (A)- V), (B) - (ID), (C) - (I1D), (D) - ()
4. (A)- D, (B) - 1), (C) - (D), (D) - AV)

Correct Option - 4

Que. 43  Which of the follwoing country has sucessfully test fired the "C-Dome" system, a naval version of the
Iron Dome in February 20227

1. Israel
2. India
3. Russia
4. TIran

Correct Option - 1

Que. 44 Which of the following commando force and its parent agency / force is wrongly matched?

1. Para SF - Indian Army

2. MARCOS - Indian Navy

3. Garuda Commando Force - Indian Air Force
4. None of the above

Correct Option - 4

Que. 45 Who is the only Indian Air Force officer to be awarded with Param Vir Chakra?

1. Karam Singh

2. Somnath Sharma

3. Nirmal Jit Singh Sekhon
4.  Yogendra Singh Yadav

Correct Option - 3

Que. 46 What number will come in place of the question mark (?) in the following series?
5,9,18,34,59,?

94
93
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4. 90

Correct Option - 3

Que. 47 P is the sister of S, who is T's father. M is the mother of N, who is T's brother. How is N related to P?

1. Nephew
2.  Cousin
3. Son

4. Nice

Correct Option - 1

Que. 48 Which one of the following venn diagrams correctly illustrates the relationship among : carrot, food,
vegetable?

o I

4 f—’f"‘_\--- f},_.‘ ——— \L‘T"FJ__\_H"\
( '-II IJ |I’IJ ) 1I"'l
\ '\.-I.-" II|‘L.‘ }."'
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Correct Option - 1

GET IT ON
Google Play

Que. 49 Mabhathir is Najma’s husband. Najma’s son, Kamran’s wife Reshma has a son named Ashraf. Ashraf’s

1

2.
3.
4

only sister is Urja. How is Mahathir related to Urja?

Father
Grandfather
Cousin
Uncle

Correct Option - 2

Que. 50 Refer to the following letter, number, symbol series and answer the question.

(Lef) W#20D @4Y3DQR7&SF@ 6" <X 22 (Right)

How many such symbols are there each of which is immediately preceded by a letter and immediately followed
by a number?

1
2.
3.
4

2
1
3
4

Correct Option - 3

Que. 51

2. Book
3. Seller

4. Idea
5. Feedback

6. Reader

1
2.
3.
4

Arrange the following words in a logical and meaningful order.
1. Writing

4,1,2,6,3,5
4,1,2,6,5,3
4,1,3,6,5,2
4,1,2,3,6,5

Correct Option - 4

Que. 52 Three different positions of the same dice are shown. Find the number on the face opposite to the face

showing '3'.
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P

Figure 1 Figure2 Figure 3

1
2.
3.
4

1
6
5
4

Correct Option - 1

Que. 53 What is the angle between the minute hand and hour hand when the time shown on the clock is 4 p.m.?

1.

2
3.
4

90°

150°
120°

60°

Correct Option - 3

Que. 54

A word with letters jumbled has been given. Choose the correct order of letters which are required to
form the correct word.

Jumbled word: AIGNEZAM

1
2.
3.
4

3,1,8,4,7,2,6,5
5,1,8,4,2,7,6,3
8,7,3,1,6,2,4,5
6,2,8,1,3,7,5,4

Correct Option - 3

Que. 55 Sanjeev ranks seventh from the top and twenty-eighth from the bottom in a class. How many students

1
2.
3.
4

36
35
37
34

are there in the class?

Correct Option - 4

Que. 56

In the following question, select the missing number from the given series.
32,35, 39,42, 46, 49, ?
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1. 33
2. 50
3. 5l
4. 52

Correct Option - 1

Que. 57
1
2.
3. 3
4. 12

Rahul walks 20 km south from his office and then turns left and walks 3 km and again turns left and
walks another 24 km. What is the shortest distance to the office from this point?

Correct Option - 1

Que. 58

Five people A, B, C, D, and E are sitting in a straight row facing the North. A is sitting to the
immediate left of C. Only C is sitting between A and E. B is sitting to the right of E. D is sitting to the

right of B. Who is sitting at the extreme left of the row?

1. D
2. C
3. A
4. B

Correct Option - 3

Que. 59
1. 846
2. 846
3. 852
4. 851

In a code language, if “526423” is coded as “647836” then how will “725184” be coded in the same
language?

197
298
695
696

Correct Option - 2

Que. 60

Which two numbers should be interchanged to make the given equation correct?
96 +6-16+ 12 x8=40

1. 6andl16
2. 96and 16
3. 6and8

4. 6and 12
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Correct Option - 4

Que. 61 Direction: Read the given statements and conclusions carefully. Assuming that the information given

in the statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follow from the statements.

Statements:
1. All mobiles are bottles
2. Only few bottles are chairs

Conclusions:

I. No chairs are mobiles

II. Some mobiles are chairs

I11. All mobiles are chairs

1

2.
3.
4

Only conclusion III follow
Either conclusions I or II follow
Only conclusion I follow

Only conclusions IT and IIT follow

Correct Option - 2

Que. 62 In the given figure triangle represents urban men, the square represents employed and the circle

represents Unemployed. which of the following number in the Venn diagram represent only urban men

employees?

Urban Men

Unemployed

1

2.
3.
4

Employed

10
12
21
9

Correct Option - 2

Que. 63 The jumbled letters of words are given below. Each letter has been numbered. Choose the option which

gives the correct order of the letters as indicated by the numbers to form the words.

IN[R[O]c]T]A]
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1 345]6

1. 1,6,2,4,3,5
2. 6,52,3,1,4
3. 4,6,2,5,3,1
4. 2,3,5,4,6,1

Correct Option - 3

GET IT ON
Google Play

Que. 64 From the given options, select the option in which the dot can be placed in exactly the same way as

shown in the figure below.

F

S EP 5 O

Correct Option - 2

Que. 65 Which two numbers should be interchanged to make the given equation correct?

1.

120+ 12x6+24-15=27

12 and 6
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2. 12 and 15
3. 12and 24
4. 6and?24

Correct Option - 3

GET IT ON
Google Play

Que. 66 Jumble the given jumbled words in a meaningful order and then select the odd one out.

GLINESH
MGENRA

1

2.

3. TNLIAIA
4

SYHIORT

Correct Option - 4

Que. 67 Rearrange the jumbled letters to make meaningful words and then select the one which is different

1. THLAAPS
2. THANAPH
3. LESIED

4. ENAHTME

Correct Option - 4

Que. 68 Which answer figure will complete the pattern in the following question figure?
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Correct Option - 4

GET IT ON
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Que. 69

1

2.
3.
4

67 x 119+ 17-27 <+ 259=7

-13
3

-3

Correct Option - 4

If +' means '+', '-' means 'X"' ,'+' means '-' and ' X' means 't', then

Que. 70  From amongst the figures (A), (B), (C) and (D), select the figure which satisfies the same conditions of
placement of the dots as in question figure.

Problem Figure

=<

)

Answer Figures

<]

1
2.
3.
4

R

(A)

O @ >

D

Correct Option - 1

(B)

:

(€

(D)

Que. 71 In the following question, out of the four alternatives, select the word similar in meaning to the

word given
Mundane
1. Atypical
2. Bizarre
3. Banal
4.  Anomalistic

Correct Option - 3
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Que. 72 Directions: Choose the correct synonym (word with similar meaning) of the head word from the

four options given and mark the right answer.

VERACITY
1. correctness
2. contradictory
3. confidentiality
4. confirmatory

Correct Option - 1

Que. 73 Directions Each of the following main words are followed by four words. Select the word that is

furthest (opposite) in meaning to the main word.

Propensity
1 Disinclination
2. Forecast
3. Stagnation
4. Restlessness

Correct Option - 1

Que. 74 What is the most appropriate antonym of the given word?
ENTHRALL

1. Delight

2. Repel

3. Fascinate

4. Enrapture

Correct Option - 2

Que. 75 Choose the option that best expresses the meaning of the given idiom/phrase.

1
2.
3.
4

French leave

Asking for a leave in french
absence without permission
A five day leave

An official leave in France

Correct Option - 2

Que. 76  Select the meaning of the given idiom.

Under a cloud
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1
2
3.
4

under observation
enjoying favorable luck
experiencing cloudy weather

under suspicion

Correct Option - 4

Que. 77 Select the most appropriate meaning of the given idiom.

1

2.
3.
4

Sell like hot cakes

Sell at a loss
Sell stale cakes
Sell very fast
Sell very slowly

Correct Option - 3

Que. 78 Select the most appropriate one word substitution for the given words.

1

2.
3.
4

A statement which cannot be contradicted

Irresistible
Irreparable
Irrational

Irrefutable

Correct Option - 4

Que. 79 Choose the word that can substitute the given group of words.

1

2.
3.
4

A place of refugee

Home
Asylum
Shelter

Hospice

Correct Option - 2

Que. 80 Direction: Select the segment of the sentence that contains a grammatical error.

sl e

The match would have won (A) by our (B) team. (C) No error (D)

o aw >
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Correct Option - 1

Que. 81 Direction: Choose the segment in the sentence which contains a grammatical error.
The ball (A) was catched by (B) the fastest player. (C) No error (D)

O @ »

1
2.
3.
4. D

Correct Option - 2

Que. 82 Identify the segment in the sentence that contains a grammatical error.

One of the girls from our college have been selected for the National Basketball Championship.

for National Basketball Championship

One of the girls from

our

1
2
3.  No error
4

college have been selected

Correct Option - 4

Que. 83 Identify the segment in the sentence that contains a grammatical error.

The Prime Minister, along with the other ministers have left for the USA to attend an important

meeting.

the other ministers have left

The

Prime Minister, along with

1
2
3. for the USA to attend an important meeting
4

No error

Correct Option - 1

Que. 84 Improve the underlined part of the sentence. Choose 'No improvement' as an answer if the sentence is
grammatically correct.

"Neither of the twins are able to solve the math problem."

Neither of the twins is

Neither of the twins was

1.
2.
3.  No one of the twins is
4,

No improvement

Correct Option - 1

Que. 85

Improve the underlined part of the sentence. Choose "No improvement' as an answer if the sentence is
grammatically correct.
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"The number of species on the planet are dwindling due to climate change."

1

2.
3.
4

is dwindling due to
are dwindling because of
is dwindling as a consequence of

No improvement

Correct Option - 1

Que. 86 Directions: In these questions, sentences are given with blanks to be filled in with an appropriate

word(s). Four alternatives are suggested for each question. Choose the correct alternative out of the

four alternatives.

George to this country a year ago.
1. was coming
2. came
3. is coming
4. comes

Correct Option - 2

Que. 87 Select the most appropriate adverb to fill in the blank.

1
2.
3.
4

Would you mind driving as [ have motion-sickness?

slowing
slowingly
slowest

slowly

Correct Option - 4

Que. 88 In the following sentences, choose the correct verb which agrees with the subject.

1
2.
3.
4

Many a soldier killed in the war.

have
was
did

arc

Correct Option - 2

Que. 89 Fill up the blank with suitable prepositions from the alternatives given under the sentence:

2.

Kanishka was initiated Buddhism by Buddhist monks.

to

into
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3.
4.

Correct Option - 2

in

at
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Que. 90 The following question consists of an incomplete sentence or a sentence that is split into four
parts. All four parts are jumbled up and are named P, Q, R, and S. These four parts are not given
in their proper order. Arrange the jumbled parts of the sentence and find out which of the four
combinations from the given options will correctly complete the sentence.

The apprentice came late to the office

P: and he went home expressing grief.

it was a bad day for him.

Q: the manager didn’t allow him to enter the office

R: the man was waiting outside for some time.

S: he decided to go home

Correct Option - 2

1
2.
3.
4

QRPS
QRSP
RQPS
PQRS

Que. 91 The following question consists of an incomplete sentence or a sentence that is split into four
parts. All the four parts are jumbled up and are named P, Q, R and S. These four parts are given
in their proper order. Arrange the jumbled parts of the sentence and find out which of the four
combinations from the given options will correctly complete the sentence.

As a child grows, his or her nervous system becomes more mature.

. Having said that variation is normal, nearly all children

belong to exhibit certain motor skills at a fairly consistent rate unless some type of disability is present.

P: As this happens the child becomes more and more capable of performing increasingly complex actions.
Q: Hence they frequently fret about whether or not their children are developing these skills at a normal rate.
R: But it is normal for rates to vary somewhat.

S: The rate at which actions emerge is sometimes a worry for parents.

Correct Option - 1

1

2.
3.
4

PSQR
PRSQ
SQPR
SPQR

Que. 92 The following question consists of an incomplete sentence or a sentence that is split into four
parts. All the four parts are jumbled up and are named P, Q, R and S. These four parts are given
in their proper order. Arrange the jumbled parts of the sentence and find out which of the four
combinations from the given options will correctly complete the sentence.

I intend to purchase a tractor and certain other agricultural equipment.

. On completion, your representative may kindly inform me of the
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annual insurance premium.

P: The insurance policy has to be deposited with NABARD.

Q: I shall therefore feel obliged if you send your representative to inspect the equipment.
R: I shall be applying for a loan of Rs 6 lacs from NABARD for that purpose.

S: The rules state that the equipment have to be insured against accidents and fire.

1. QSPR
2. SPRQ
3. PRSQ
4. QPSR

Correct Option - 1

Que. 93 Directions: Read the following text and complete it using the words given in the options.

The best quality about Ponting was his burning desire to win matches. At times, the desperation did
bring X  infamous incidents, but what shone through his career wasthe Y  desire to be victorious.
Three World Cup titles, includingtwo  Z  ones as captain, to go with a couple of Champions Trophy titles
and the No. 1 Test ranking show that he had seen it all in the international arena.

Select the most appropriate word from the options against X

1. down
2.  below
3. above
4. up

Correct Option - 4

Que. 94 Select the most appropriate word from the options against Y

1. disaster

2.  sheer

3. uncomplete
4. safe

Correct Option - 2

Que. 95 Select the most appropriate word from the options against 7Z

1. ridiculous
2. adjacent

3. consecutive
4

juxtapose

Correct Option - 3

Que. 96 Amidst the dense arboreal expanse of the Aberdare Ranges, the morning light gently spilled through
the interlacing leaves and fell softly upon the green mantle of the forest floor. A variety of birds, each
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more enchanting than the last, chanted their melodious tunes, creating an orchestral symphony that celebrated the
advent of dawn. A babbling brook twisted and turned through the forest, its crystal-clear water alive with
minnows darting to and fro.

In the heart of this wilderness lived the enigmatic matriarch, a grey African elephant named Ellaria. Ellaria,
despite her intimidating size and strength, was a symbol of gentle wisdom for the animal kingdom. Her eyes told
tales of epochs gone by and were always mindful of the future. Ellaria's task was an arduous one: to lead the herd
through these primeval terrains, to locate food and water, and to keep the young and old safe from potential
danger.

Ellaria had a particular fondness for the cascading waterfalls in the eastern sector of the range. The soft roar of
the falling water seemed to whisper ancient secrets into her large, receptive ears. The lush greenery surrounding
the falls provided ample food for her family. Moreover, the watering hole beneath the falls was home to a diverse
community of creatures, each with a unique role within the intricate web of life. The unity and balance within

this microcosm echoed the overarching theme of harmony that Ellaria so deeply cherished.

Which of the following statements about Ellaria is incorrect based on the passage?

1

2.
3.
4

Ellaria lives in the Aberdare Ranges.

Ellaria's favorite spot is the waterfall in the eastern sector of the range.

Ellaria is responsible for hunting prey for her herd.

Ellaria is a symbol of gentle wisdom for the animal kingdom.

Correct Option - 3

Que. 97 What can be inferred about Ellaria's personality from the passage?

1

2.
3.
4

Aggressive and intimidating
Ignorant and carefree

Wise and gentle

Lazy and indifferent

Correct Option - 3

Que. 98 What does the waterfall symbolize for Ellaria ?

1
2.
3.
4

Danger
Food scarcity
Ancient wisdom and harmony

Upcoming migration

Correct Option - 3

Que. 99 What was Ellaria's task?

1.
2.
3.
4.

To hunt for prey

To find a suitable habitat

To guard the forest

To lead her herd and ensure their safety
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Que. 100 Where does Ellaria live?

1

2.
3.
4

Savannah
Rainforest
Aberdare Ranges
Arctic Tundra

Correct Option - 3
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